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OO Ol & XA &4 =6t=
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OSMAH &4 =33 300,000 70«12 252,000
307 @12+01 ™ 71,234 71,234 0
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OCHAH eraEdE It 71,234,000 71,234
NASE MH Az X 20,000 20,000 0
307 gI2+0l ™ 20,000 20,000 0
05 IRt E = 20,000 20,000 0
OMASE M4H E=Ad dazs X
100,000 200 20,000
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= 8,400
< 3,780
Al 8,820
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= 8,400
[ 3,780
Al 8,820
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= 8,400
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< 300,000
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[ 300,000
Al 1,200,000
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& 49,320
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ool DA S42R4Y
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= 46,800
Al 109,200
OZOHotEt WAL S22
100,000& x7H «12& 8,400
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Al 5,880
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307 2I2tol A 166,950 150,500 16,450
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Al 30,000
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OLQIZAIRIAS 50 &4t
70,0002 *8% *23] 1,120
307 212+0I & 989, 190 860,250 128,940
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= 170,540
Al 670,271
JAS THIHEOl AlANH S 54,360 54,720 360
= 8,154
= 9,887
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Al 3,300




SA =FP MY
HE: L X

Sl HAS LONSME PN (9l & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
HzAD FHAR Q2| 127,200 106,800 20,400
= 30,303
Al 9,897
307 212+0I & 127,200 106,800 20,400
= 30,308
Al 9,897
SENEES 127,200 106,800 20,400
OF2ALY FYA 2I21Y|
1,000, 00024 *5JH A+ 122 60,000
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OJIEF A& ZHIR I 512,5002 *122 6,150
ORI 300,0002 128 3,600
SIS 50,0002 128 600
OBAR2Y Lt 200,000% 122 2,400
OSHA gat2reltht| 220, 00021+ 122 2,640
Os44 Wegd| Fy| 2,800,000%! 2,800
OFN BH2x 2% |2l 500, 0002 500
AN & 68,000 105,000 37,000
401 Al 2B 2O HI 68,000 105,000 37,000
01 Al& | 68,000 105,000 37,000
OB IIAIL S A 7,000,000 7,000
OSEAM g5 2N L HF Z
2,000,000 2,000
OSEAM 8L 1,500,000 1,500
OSEA bt 2 1,500,000 1,500
OSHES 21228 L SFa HEZAHXG
=) 20,000, 0002 20,000
OXGIER 2D EXBA 16,000, 0002 16,000
025 TEX4 BB 20,000, 0002 20,000
Z0I%AAY 25,000 20,000 5,000
ZOIZHAE HY| 25,000 20,000 5,000
401 Al 2B 2O HI 25,000 20,000 5,000
01 Al&H] 25,000 20,000 5,000
OF =AY 25,000, 0002 25,000
WS AHY (ST2S) 71,541 73,109 A1,568
ol 2| 25,541 25,309 232
ol 2| 25,541 25,309 232
101 Q1248 25,541 25,309 232
03 RIIHA2E X2 4 25,541 25,309 232
OSFUME HAE 25,541
—Jez 836,680% « 122 10,041
—Jleay 836, 6802 *400% 3,347
Lo P 836, 6802 *200% 1,674
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—ARtel2RAg
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ey
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—2&IIAE
(836,6802! /243 A1 2+ ) 8 Al 24+65%<(8. 5 12 1,827
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—MREE 25,040, 00021%20/ 1,000 501
Jl= 2| 46,000 47,800 A1,800
o=l 46,000 47,800 A1,800
201 YEr2gt| 18,000 18,000 0
01 At 22l H] 18,000 18,000 0
SLVE-T] 80,0002 %102 * 122 9,600
ozl 70,0002 10 * 128 8,400
202 04t 18,000 18,000 0
02 2 O Hi 18,000 18,000 0
OJl=gL =T ol 150,000 * 102 * 122 18,000
203 2R FZH| 10,000 10,000 0
NEEEEEEESY 6,600 6,600 0
OJlE2Y AR =Y 550, 00024 + 122 6,600
02 HRIPISRE Y| 400 400 0
OF AL REY) 40,0009 +10% 400
EVE & 3,000 3,000 0

DAY 250,000 * 122 3,000
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ Hws2
Ss 358,073 338,055 20,018
CHE ZOANKMEH 2 291,826 270,206 21,620
ZOIREIME B 210,170 183,550 26,620
ZOIRXIME 2 108,420 99,860 8,560
201 YEr2gy| 25,000 20,000 5,000
01 AtR2t2IH] 15,000 15,000 0
OFQURXIME 2| 500,000 *122 6,000
OFUANXAL 30 B2
0,0002! #2593 « 128 9,000
03 A2 b 10,000 5,000 5,000
OFQUNXIME HZLHES 3,000,008 14 3,000
OFUNKME DT, 28 L FAEHE 22
0y 2y 7,000, 0002 * 14! 7,000
203 YR = ZIH| 600 600 0
03 AI& =@ XYl 600 600 0
ONFAIE 25 =& 600, 0002 600
301 YBHEAS 77,120 75,960 1,160
10 SALAIHI 24 2 77,120 75,960 1,160
OFUIRIRIMEl KHASAT Abl2 4
20,0002 2752 * 122 66,000
OFQURXIMEl AlLR2 THRSAX AHI2A 11,120
-5 20,0002 22 x25221 10,080
~E99 20,0002 12 x5221 1,040
405 Xt AHF S HI 5,700 3,300 2,400
01 ML SEH S| 3,700 3,300 400
ORIRAME SE(AIF) 1,100
—~2EE(2UEH Z8) 1,100,0002! 1CH 1,100
OFUNXIME 25 2,600
— HIHAIR) 2,000,0002! +1CH 2,000
N -ESII( ) 300,0002 2CH 600
02 AP 2,000 0 2,000
OFQNXIME A 2,000,0002 * 14! 2,000
olERHel 29 20,020 19,760 260
201 Lur2 Y| 18,360 18,360 0
01 ALR eIt 9,600 9,600 0
OIS HP=T 48U 800,000 128 9,600
02 ZZ2Y| 8,760 8,760 0
02222 2 MM 8,760
—QIAUFOIE R
1,75021¥3607H + 122 7,560
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—JIE RER=2 250 4000 x12& 1,200
405 AHAHS| EH| 1,660 1,400 260
01 AMAE 2 EFH S HI 1,660 1,400 260
OFEHOEZ2(AR) 1,400,000 =104 1,400
Oolgalz AEI|(AF) 130, 000! *2CH 260
=, 508 gsid 74,730 56,930 17,800
301 LEtE A2 74,730 56,930 17,800
b E: -2 -easgsEAZ 74,730 56,930 17,800
O 68,880
—=4 200,000& 21H x143| 58,800
— 3o LG 20,000 x21H x23| x 12& 10,080
OBrE = 25,000 x 1172 x23| 5,850
MR 252 =] 7,000 7,000 0
301 LEtE A2 7,000 7,000 0
10 HALAHIBAZ 7,000 7,000 0
ONMRse 2s2L0t=)| HEAZHX 24|
7,000 x50 23| x 10 7,000
= FAN2Y 56,656 66,656 A 10,000
HA2A B 56,656 66,656 A 10,000
201 Bt AY| 36,656 41,656 25,000
02 3294 36,656 36,656 0
O3322 <% HA 13,200
&2 800,000& x12& 9,600
— At Bl 232 100,000 x12& 1,200
—JIEt 2222 2 HAl 200,000 x12& 2,400
Od = 4| 9,600
—CAIIARZ 800,000& x12& 9,600
OAl 4 Z&H| K Xl 9,756
— & AS XY 300,000 x12& 3,600
—201F3Hl =2 203,000 x12& 2,436
— & AF BF3t2tel | 110,000 x12& 1,320
—JIEF A& &EHl Xl 200,000& x12& 2,400
OX&ER Ayl 300,000& x12& 3,600
OEMHH S X (HH8EX) 298 |A&aeld]
500,000& 500
401 AL 2T 20,000 25,000 A5,000
01 Al & H| 20,000 25,000 A5,000
O Z0HH U5 WE2FY L 2+3A
20,000,000 1Al 20,000
FOI=JAANY 25,000 20,000 5,000




2N S
HE: oS FUNX

dE 29

CHol: ZE0I% R ALY (B9 &2
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
ZOISHALE HH| 25,000 20,000 5,000
401 A& B2 2 T 25,000 20,000 5,000
01 Al &bl 25,000 20,000 5,000
OZpI= A Y] 25,000,000 25,000
HHSAAY (S S) 66,247 67,849 A1,602
oz 2oyl 27,527 27,329 198
ozl 2 oyl 27,527 27,329 198
101 1244 27,527 27,329 198
03 RIHA22 NS4 27,527 27,329 198
SZEOIME FAZEI 27,527
-z 836,6802 122 10,041
—Jlzay 836,6802 *400% 3,347
— LA T2 b 836,680 *200% 1,674
— Y| 836,6802 * 150% 1,256
o -CES 140,0002 * 122 1,680
—HoiZ Ay 80,0002 +122 960
— S|y 30,0002 *122 360
—J=4y 20,0002 * 1%+ 122 240
—Nze 2Ry
4,4702+1 5L 15A1 2H+ 122 1,207
—gaaR4y
4,470 %1 5HH*BAI 2022 122 1,288
—oi Rt g 4, 4702 *8A| 2422 787
S =
(836,680 /24341 2H) %8| 2H#65%+ (19,311 12 4,147
)
—MTHEER 26,987,0002 %20/ 1,000 540
ol = Al 38,720 40,520 A1,800
=l 38,720 40,520 A 1,800
201 LBr2 S| 14,400 14,400 0
01 AL 2reltl 14,400 14,400 0
O= A2 80,0002 8% * 122 7,680
O3 70,0002 8% * 122 6,720
202 01 H 14,400 14,400 0
02 2 2404 | 14,400 14,400 0
O 01| 150,000 %824 122 14,400
203 & RETH| 9,920 9,920 0
01 I 2SI AR EAY| 6,600 6,600 0
OJB2YY =AY 6,600,00024 6,600
02 MEIIAA R EAY| 320 320 0
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A

| = O &

A

SH:AES
Hal: MHE FOURIME 29
el FOIMXIME B4 (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
NS 488,808 452,348 36,460
ANE FURIIME 2 421,200 383,030 38, 170
ZOIRXIME B45 222,640 232,080 A9,440
ZOIRXIME 2 130,520 138,760 A8,240
201 Lut2 | 28,900 30,900 A2,000
01 AFR 22l t] 8,900 18,900 0
OFQURXIME 2| 700,000 +122 8,400
OFQXXIFIAS| 5|0 &4
30,000 x258 x 122 9,000
OFQRXIME AHLAIR 500,000 *35] 1,500
03 A2t 10,000 12,000 A2,000
OFQIRIME XHE L3 3,000, 0002 3,000
OFQINXME D - 28 U FLAUMBER
oy 2y 7,000, 0002 7,000
203 2= Z bl 600 600 0
03 Al B =R R =X Y| 600 600 0
ONBAY =ZBS 600,000 600
301 YR A 99, 120 93,960 5, 160
10 BALAIHI 24 2 99, 120 93,960 5,160
OFQIRXIMEl THRAZAKHZAL) AlHI2 A4
20,0002 %3502 * 122 84,000
OFQXXIMEl AILRE THRSAX AHI2A
20,0002 *3% +2522) 15,120
405 Rt &HF SHI 1,900 13,300 A11,400
01 AU SES S| 1,900 13,300 A11,400
OCIXIZ 3o 2H Al 7) 400,00021 *10H 400
ORS=(M7) 50,0002 *107H 1,500
oS 29 20,400 21,600 A1,200
201 Yut2 | 20,400 21,600 A1,200
01 AFR 22l t] 9,600 9,600 0
ORI ADER £8H 800,000 128 9,600
02 ZZ2H| 10,800 12,000 A1,200
OLILTHHOIE S SHERS 700,002 128 8,400
OJIEt B323 200,0002 *122 2,400
S 8% 2SN 68,220 68,220 0
301 YR A 68,220 68,220 0
055 2 - HHHEBHS 68,220 68,220 0
oSz 62,320
—4g 200,000 * 198 143 53,200
—sloaa LY 20,0002 * 198 x23| * 122 9,120




SA: MHE
Ha: AHE EORX
o =

|
ool ZOINXIME a5 CrRL

S BB SR (B) - NEAY - BAS 0f & o Soe DB
ogtd =4 25,0003 118 23] 5,900
MRet =52 eS| 3,500 3,500 0
301 L2 as 3,500 3,500 0
10 #AIAIH 242 3,500 3,500 0
OMBSBSLOISI| (A FIIK SAH
7,000 ~50E »23| «5& 3,500
= EAN=d 173,560 130,950 42,610
EA=2E 3| 173,560 130,950 42,610
201 eS| 112,260 119,160 6,900
01 At 22l 4,800 14,800 210,000
OF At get+=EH| 400,000& 123 4,800
02 == 107,460 104,360 3,100
O332= ¥ HAl 39,600
—&IIe3 2,500,000& x12& 30,000
—dotr=ER23 550,000& =122 6,600
—JIetEZ22=s € MHA 250,000 «12& 3,000
(@tN=d] 42,000
—ZANARS 3,500,000& x12& 42,000
OAl&4 EHI R XIH 21,060
— &M 400,000 x12& 4,800
—20dHlx==2 150,000& =122 1,800
—&ojotd2te| === 160,000 »12E 1,920
— AN FH = 120,000& 12 1,440
—s5&J| sAl&cll 200,000& =12 2,400
—EAMNAE FHad 2,000,000 *12] 2,000
— &3t L FAH 900,000& *13! 900
—S#3 A 500,000& =23 1,000
—JIEt AI2EHI= Al 400,000& 122 4,800
OXtetl 4,800
— xR A 300,000& x12& 3,600
—O0IE X=Xl 100,000 x12& 1,200
401 Al IR S THYI 61,300 10,500 50,800
01 Al£Hl 61,300 10,500 50,800
OF AL ASAHE L HITH =S At
33,000,000 33,000
OH&2Ed 22 ZA 10,000, 000& 10,000
O&Z& Wil SAt 8,000, 000& 8,000
OO EHSIAIE B2 At 9,000,000& 9,000
O&LJI2 0IZYXIEXI(SOH) S A 800,000 800
OEMBH 2= Al € 2 X HI 500,000& 500
o= 25,000 20,000 5,000
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M Ay
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el AL (25 &2
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
ZoIZBAIE F| 25,000 20,000 5,000
401 Al HIL 2T 25,000 20,000 5,000
01 Al&t| 25,000 20,000 5,000
OF %2 ALY 25,000, 0002! 25,000
HHLSHIH (M S) 67,608 69,318 A1,710
ol 2| 25,208 25,118 9
ol 2| 25,208 25,118 9
101 Q1214 25,208 25,118 9
03 RIIHA22 NS4 25,208 25,118 9
SFEOIME FABLR 25,208
—Jle3 836, 6802 « 122 10,041
—Jlgay 836, 680! *400% 3,347
—ARtel2RsY
4,470%1%1 581 % 15A1 2H+ 122 1,207
—gY2Rsg
4,470%1 %1 584 %8| 2Hx22 #1202 1,288
—SIMag 30,0002 122 360
— QiR ag 4,470 8l 2418 644
—Zug A 80,0002 * 122 960
—DEEXY 140,002+ 122 1,680
—YEEII) 836, 680%! * 150% 1,256
— PRI 836, 6802 *200% 1,674
—2&IM3
(836,680 /2431 2t) %8 Al 24653+ (10,512 2,256
2)
— AT RER 24,713,00021%20/1,000 495
o= 2 bl 42,400 44,200 A1,800
2 42,400 44,200 A1,800
201 YEr2gy| 16,200 16,200 0
01 AtR2t2IH] 16,200 16,200 0
o= Meg 80,0002 x9% « 128 8,640
o2l 70,0002 +92 122 7,560
202 048 16,200 16,200 0
02 2 % 01| 16,200 16,200 0
OB 01| 150,000 %9 * 122 16,200
203 YR = TY| 0,000 10,000 0
01 I BSYAREHY| 6,600 6,600 0
Ol YL =AY 6,600,000 6,600
02 HEHI YR =T Y| 400 400 0
OBRAYRETY| 40,0002 *10% 400
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A = O & AF 2 Y M N
SA: EXNS
M dXs FUUXNEH 2
& FUXNXHEH 2L AR
M- BB Sl (B) - HIRAY - Ba S 01l &k o e 2
28X 1,144,979 508,118 636,861
2l s FUXNXNEEH 22 780,907 429,361 351,546
ANXIHE o3t 316,447 237,914 78,533
QXX 23 247,393 168,860 78,533
201 ZEt2FH| 25,000 27,000 22,000
01 AR 2teld| 15,000 15,000 0
OFXXIHE 22| 500,000& «12& 6,000
OFQNXALS sloBMLE
30,0003 »25H x123] 9,000
03 S At2 G| 10,000 12,000 22,000
OF0IXXEH XSLHS 3,000, 000& 3,000
OFOUINXEH wWs - Ast & HAHMEEZ
I8 2g 7,000,000& 7,000
203 P =&l 600 600 0
03 Al =X H 2 Z=&Y| 600 600 0
OANBAH g=5F2 600,000& 600
301 etE a3 131,160 131,880 AT720
10 HAIAHIE &3 131,160 131,880 AT20
OFUTRIMEl TAZAT A2 4
20,0003 42098 123 100,800
OFUNXIHE Ald2e] NHSALAR Aldl 24
20,000 x6H 253 30,360
405 KtatE S| 90,633 9,380 81,253
01 XML EEHSHI 88,633 4,380 84,253
O3Z cl29d AN SZE (M) 24,805
—ddo 2,850,000 «6CH 17,100
—MOIS2XHE A 1,550,000 *2CH 3,100
—ASL2IIIN 885,000 *1CH 885
—HRe 1,500, 0003 = 1CH 1,500
—AYE 555,000 =4 CH 2,220
O35 |24y 23 T27H =2 (4+) 15,428
—=ZE 5§ 300, 000& 324 9,600
—=ZdE X 77,0003 *64 4 4,928
—30IE BEE 200,000& +2CH 400
—IHdlsl 250,000& +2CH 500
O48 ti2Y £2(&R) 47,000
—&doAl §Tt 305, 000& * 1004 30,500
—&doAl oKt 55,000& *300H 16,500
OERHI0IZ (&) 700,000& »24! 1,400
02 S N7l 2,000 5,000 23,000
OX2M22E &A 2,000,000& 2,000




SRR ONE=S

o NS FOUNKNME 2
el FUIRXIME B3 (Sl &)
_ _ . A -
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
sl 29 26, 154 26, 154 0
201 Lt Y] 26,154 26, 154 0
01 AL 22 b 17, 154 17,154 0
ODIFHFALER £8H 700,000 122 8,400
OUASTLMBT 7Y 63,0002 %208 A 1,260
OFPISESSE=2SX 7Y 26,0002 #5082 1,300
OSHEILTANAHLDE 79
300, 0008 * 122 3,600
OSHEZLTANAY SA24
648, 30021 x4 | 2,504
02 222l 9,000 9,000 0
OUAUFOISS QERI 750,000 122 9,000
S0y 2SN 35,900 35,900 0
301 LB A3 35,900 35,900 0
055 2 BRBSENI 35,900 35,900 0
Osz4+Y 32,800
s34y 200,000+ 102 14| 28,000
—ETE O BAAY 20,0002 102%25]+ 122 4,800
Otz g 25,0002 *6224 *23] 3,100
HRs B2 LS| 7,000 7,000 0
301 LPBLS 7,000 7,000 0
10 BAHAIHI A3 7,000 7,000 0
OMRe BSULSI| UHA HOIL SAMS
7,008 ¥502 x25] ¥ 102 7,000
SEARY 439,460 171,447 268,013
B A2 | 203,840 146,690 77,150
201 Lt Y] 223,840 146,690 77,150
02 B2 203,840 146,690 77,150
02223 % Al 203,640
— ey
9,700,0002 *62+7, 760, 0002 62 104,760
~Z123
3,850,0002 *62+3, 080, 00021 62 41,580
— N5 +ER3
1,050,000 62 +840, 0002 62 11,340
—ZANARS
4,200,002 x62+3,360,0002 +6 2 45,360
—-JIEB23.3 600, 0002 600
ON&ZH KXl 14,100
—FHA L AEZ T2
600, 0002 * 122 7,200




fA: 2XS
M 2dXs FUUXNEH 2
CHol: SHAR (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
SOZHANAHE 29z
620,000& 62 +530, 0002 63 6,900
ozExg |l 4,300
—2EXE 74 300,000& «12& 3,600
—2EZ2iE BE8= 700,000& *12] 700
OEMHH 2= 2 E S A2/l 800, 000& 800
OFE AL HtEE A 1,000,000& =13 1,000
EAEE NS 215,620 24,757 190,863
201 ZEt2FH| 4,950 7,500 A 2,550
01 AtR2tel 4,950 7,500 22,550
ORIRYRN B2 TIIHIE 0F S|
4,400,000& 14 4,400
Os&4a 2UHE S2HF=L AIEX M
550,000& » 14 550
401 A& HIZ 2 CHYI 210,670 17,257 193,413
01 A& HI 209,670 17,257 192,413
O2X s EA 1,35 cl22E SA 200,000
—33 2IZ2EE ZA 160,000, 000& 14 160,000
—15 2229y TAHRSETH)
40,000,000& *14! 40,000
O2Xs A |22 Al
8,600,000 14 8,600
OSRIZHIAIAE &I &X
110,000 200 £ 220
OZUHE &8 M=2A WH ¥ E+3A
850,000& =14 850
03 Al& =01 1,000 0 1,000
OLXs A 2I2EE AIE204
1,000,000& =14 1,000
o= 25,000 20,000 5,000
FOSEALY | 25,000 20,000 5,000
401 A& HIZ 20| 25,000 20,000 5,000
01 Al£HI 25,000 20,000 5,000
O=0I=RArd| 25,000,000& 25,000
HH 2L (LN S) 78,150 78,757 A607
I 2| 27,510 27,317 193
eIzl 27,510 27,317 193
101 @124 | 27,510 27,317 193
03 RIAHAZZNHE =+ 27,510 27,317 193
Os=0lHEH FAt22|& 27,510
=2 836,680& «12& 10,041
—J|g=< 836, 680& *400% 3,347




NS
HY2HZH(LXS)
elE =g =L
I:l}\_l X XH C|-O|(§Ij;”) }\.”:an HAXZ A} OH In_-ILj_'l:_ =2}
- o= I T ° - 5 ° o= (S 0:”/.)"% C
—JtAI X 2l 836,680 *200% 1,674
—HEFIHI 836,680 *150% 1,256
—wES 2| 140,000& = 12& 1,680
— A ZAH| 80,000& x12& 960
— Pl 30,000& 123 360
A2t 2R
4,470 1 58 =15 Al 2+ 12 1,207
—F422Y
4,4703 x1. 581 »8AI 2+x22 x 12 1,288
B PN 4,470& x8BA| 2++20 716
— 23
(836,6802 /243 A1 2 ) *B Al 2H%65%* (20 x4 2 + 4,441
214+88 )
—MTHEEE 26,970,000& *20/1,000 540
Jl22Z 4l 50,640 51,440 A800
|=ZHl 50,640 51,440 A800
201 L BH2HH| 19,800 19,800 0
01 AR 2teld| 19,800 19,800 0
OFMd2ZHI 80,000& *11E «12& 10,560
OF=3=i:] 70,0002 *11H «12& 9,240
202 044l 19,800 19,800 0
02 XN 19,800 19,800 0
O HHHI 150,000& *11Z 123 19,800
203 AR F&lH| 10,040 10,040 0
01 I 22 LR F8Y| 6,600 6,600 0
OJ|#2Z 2=l 550,000& x12& 6,600
02 BRIt R =AY 440 440 0
OF A FRFAH| 40,0003 114 440
04 EN2ILRFEY| 3,000 3,000 0
ORAMZZHERFAI 250,000 x12& 3,000
405 KHaHFE S| 1,000 0 1,000
01 AL =S H 1,000 0 1,000
Oyl (&l 57 250, 000& =44 1,000
S(LNS) 285,922 0 285,922
LHEHH K= 285,922 0 285,922
A2 S ASMSE (SRS sgHE 2al) 285,922 0 285,922
309 MES 285,922 0 285,922
= 285,922 0 285,922

285,922,000 * 14| 285,922




= 0l &

SN 2ES
Zy: =2¥s FONIME 29
CHol: FOITRIME 45 (9l 2
_ _ _ Muo
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
=3 433,506 50,805
SHES FOUNIME 29 367,480 52,408
FOMAME 245 205,640 12,710
FORNAMEH 2 137,220 19,860
201 YBr2 | 25,000 A800
01 AL 22 bl 15,000 1,200
OFOIXIME S| 500, 0002 * 122 6,000
OFOIRASANE 5o &A +g
30,0002 +252 12 9,000
03 A2 b 10,000 £2,000
OFOIXXIME =Z 2wHs| 3,000,000% 3,000
OFOIRME DR 9 FAEMED2
g 2y 7,000,0002 7,000
203 R =T Y| 600 0
CEESSEEE 600 0
ONFA 25 = 600, 0002 600
301 LB BAD 91,920 9,960
10 BAFAHI 243 91,920 9,960
OFOIRIIME K& SAR bl 24
20,0008 +320% 122 76,800
OFOIXIIHE Aae He SAK A4 &
& 20,0002 +32§ 2522 15,120
401 Al & HI L2 THY| 11,000 11,000
01 Al bl 11,000 1,000
OLHDA 2SS SXZAL 11,000,008 14! 11,000
405 X443 S| 8,700 A300
01 MU SEHSH 7,700 A1,300
OLEEDA 2 B &, )
1,100,002 *72H 7,700
02 EA P 1,000 1,000
OSBAZY HIXE A 1,000,0002 1,000
DR 29 26,490 6,820
201 YBr2 | 20,500 2,500
01 AL 22 bl 9,600 0
OoIAST AREF £BHl 80,0002 122 9,600
02 ZZ 2| 10,900 2,500
0z3e3 2 10,900
—I 2T o 22 600,000 122 7,200
—JIE B2 100,000%! 122 1,200




SN 2HS
HH: =2Xs FONIME 29
& FUXNXHEH 2L
S HE - S(EH) - NRAY - BES sk oy e
—OABSAE O 2HESLS
502 +10,000 2,500
405 RHobF S HI 5,990
01 XML EEHSHI 5,990
O&EX= A (THAN) 4,500,000 =14 4,500
OZZIEHINI(ME, UHM) 790, 000 * 14 790
OMe&BI|(&F) 700, 0003 * 104 700
=, gskd 57,730
301 et azg 57,730
05&-cl-BtEssEds 57,730
Oos% 52,480
- 200,000 *16H *143] 44,800
-39 FA&sY 20,0003 x16H +23| x12& 7,680
ogta =¢ 25,0003 105 »23] 5,250
i2et =52 &SI 4,200
301 etE a3 4,200
10 HAIAHIE 43 4,200
ONMRe =222 &SI HELX EWA =S4
7,000& *30H «23| x 102 4,200
= IN2Y 116,840
EA2Z 3 62,240
201 get2Ad| 62,240
02 2Z2YHl 62,240
OzZ22 % MM 19,440
~HIIQ2 L GTAA HEHEZ
1,200,000& 123 14,400
—& .otk = 120,000& «12& 1,440
—JIEt 232 & AA 300,000& «12& 3,600
Od =l 12,000
—SANNARS 1,000,000& 123 12,000
OA&EHl Rl 21,600
— & A KX 500,000 «12& 6,000
—80o ZHl =2 200,000& «12& 2,400
— 3 A3t 22l 200,000& «12& 2,400
-0 |A 2eltl 200,000& «12& 2,400
—JIEF Al€&EHl =Xl 500,000& «12& 6,000
—YWHE)| 2 AleD| sAl2al
200,000& x12& 2,400
OXt&| 5,100
— g |5 300,000& «12& 3,600
— X 28z 1,500,000& 1,500




SN 2ES
M 2SS FOULNXALAEH 29
ool £ HARY (el @g
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- T - = S = o = 0:”/&,% Wsa
O ANSY dbt=EZH| 300,000& ~12& 3,600
OEMBi &= 29 S AlZ2ld| 500,000& = 14! 500
HAEHINA 54,600 17,490 37,110
401 AlEHI L 20| 54,600 17,490 37,110
01 Al & H| 54,600 17,490 37,110
QZofel HOJAIAE HXIZ2A 1,500,000 14! 1,500
OFEAI S4 DIsgsE ALlH 22
2,000,000 x1A! 2,000
OFAb 28 & HIEE A 3,000, 000& x1A! 3,000
OFEAI S4 SHEE &1 AF Z2A
40,000,000 14! 40,000
OHUXISHHEM =4 O|8AEXIZBA
7,100,000& * 14! 7,100
OFAN =28 8X&Y 1,000,000 =14l 1,000
FOI=2AANY 25,000 20,000 5,000
=O0IEHAIE &Y 25,000 20,000 5,000
401 AlEHI L E0HY] 25,000 20,000 5,000
01 Al&H]| 25,000 20,000 5,000
OF0l=2AAHH| 25,000,000& 25,000
HY2AAH|(EES) 71,026 72,629 A 1,603
ol A 25,026 24,829 197
oleAE2AY| 25,026 24,829 197
101 @1 2| 25,026 24,829 197
03 2IHAZZAE 25,026 24,829 197
SFOMEH A2 F 25,026
—Jl22 836,680 x12& 10,041
—J|gx= 836,680 «400% 3,347
— JFAI K & H| 836,680& x200% 1,674
— Y& S| 836, 6803 *150% 1,256
—nEEXH| 140,000& x12& 1,680
—dHZ A 80,0008 x12& 960
— M 30,0008 x12& 360
— A2t 224G
4,470 %1 58 x15A| 2Hx12& 1,207
—5222 ¢
4 4703 *1 . 5H*8A| 2 x2 L x 122 1,288
PN =S 4 4703 *8Al 2Ex19L 680
—2EIM 2
(836,680 /243 Al 2t) *8 Al 2H%65%+* (9.5 12 2,042
)
—MIHEE = 24,535,000= x20/1,000 491
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201 L2 18,000 18,000 0

01 At 22l 18,000 18,000 0
ORAN=2Z it =ZH| 80,000& x 10~ 123 9,600
O=gl 70,000 x 108~ 122 8,400

202 044l 18,000 18,000 0

02 A0 18,000 18,000 0
OF=E0:1:] 150,000 «10H « 128 18,000

203 2= 10,000 10,000 0

01 J[22d PR FAH| 6,600 6,600 0
OJI 223 HRF4] 550,000 «12& 6,600

02 I RF=8H 400 400 0
OZ It P =] 40,0002 10 400

04 RFAN2EHRFEH 3,000 3,000 0
ORANZSHRF4HI 250,000& =122 3,000
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&l —’F—‘Sﬂil’ﬂlﬂ El“éir (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OMRe ==22SI WELEFTHL =4
7,000& 30 23| 108 4,200
s IN2Y 45,700 50,479 N4, TT9
FA2Z 3 45,700 50,479 ANATTY
201 Et2dd| 45,700 50,479 ANATT9
02 2244 45,700 46,200 A500
OZ232= ¥ HAl 33,700
—&JIe3 1,000,000& x12& 12,000
—&a,ol=ER=s 50,000& »12& 600
— 22 BE8= 700,000 *1CH 700
—SANALZ(FHEH) 900,000& *12& 10,800
—CAIIAQS(EAZ) 500,000& «12& 6,000
—JIEt B2ER= 300,000 «12& 3,600
OAIE&EHl Xl 8,400
—foddl+=2 200,000& «12& 2,400
—JIEtAIE EBI R X 200,000& x12& 2,400
— &A= X 300,000& <128 3,600
OXrg s Xl 300,000 «12& 3,600
o= 25,000 20,000 5,000
=0 EHAE FH| 25,000 20,000 5,000
401 A& HIZ 20| 25,000 20,000 5,000
01 Al£HI 25,000 20,000 5,000
O=0I=RArd] 25,000,000& 25,000
HH2AZH(MES) 57,021 58,590 A 1,569
QA2 A 25,581 25,350 231
eI 2| 25,581 25,350 231
101 21 2dl 25,581 25,350 231
03 RIAHAZZHE = 25,581 25,350 231
Os0HH FAt22/& 25,581
—Jl2s 836,680& «12& 10,041
—J|Z=e 836, 680& *400% 3,347
—Jt A X &Y 836, 680& *200% 1,674
—HE S0t 836,680 *150% 1,256
— WS 2| 140,000& 128 1,680
—FUZ A 80,000& 123 960
—IIE==g 20,0003 128 240
— =g 30,000& *12& 360
— AL 2R
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